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•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr iz'u 18 gSaA  

Please make sure that the printed question paper are contains 18 

questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks Nk= mÙkj&iqfLrdk ds 
eq[;&i`"B ij fy[ksaA 

The Code No. and Set on the right side of the question paper should be 

written by the candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 

Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk 

mÙkj u dkVsaA 

Except answer-book, no extra sheet will be given. Write to the point and do 

not strike the written answer. 

SET : C 
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•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= iw.kZ o lgh gS] ijh{kk ds ijh{kk ds ijh{kk ds ijh{kk ds 

mijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you have been supplied the 

correct and complete question paper, no claim in this regard, will be 

entertained after examination. 

    

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k % –    
 (i) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

 (ii) bl ç'u-i= esa dqy 18 iz'u gSa] tks pkjpkjpkjpkj [k.Mksa % v] c] lv] c] lv] c] lv] c] l rFkk n n n n esa foHkDr  gSaA 

 (iii) [k.M &[k.M &[k.M &[k.M & vvvv ds iz'u la[;k 1 esa ckjgckjgckjgckjg (i-xii) oLrqfu"B iz'u gSaA iz'u (i) ls (viii) rd 

cgqfodYih; iz'u gSaA izR;sd iz'u esa pkj fodYi fn, x, gSa ftlesa ls lghlghlghlgh fodYi dk 

p;u dhft,A iz'u (ix) ls (xii) rd izR;sd dk mÙkj ,d,d,d,d ;k nksnksnksnks 'kCnksa ;k okD;ksa esa 

nhft,A izR;sd iz'u 1 vad dk gSA 

 (iv) [k.M[k.M[k.M[k.M &&&& cccc esa iz'u la[;k 2 ls 10 rd vfr-y?kwÙkjkRed iz'u gSa] izR;sd ds 2 vad gSaA 

 (v) [k.M &[k.M &[k.M &[k.M & llll esa iz'u la[;k 11 ls 15 rd y?kwÙkjkRed iz'u gSa] izR;sd ds 3 vad gSaA 

 (vi) [k.M[k.M[k.M[k.M     & n& n& n& n esa iz'u la[;k 16 ls 18 rd nh?kZ mÙkjkRed iz'u gaS] izR;sd ds 5 vad gSaA 

 (vii) [k.M[k.M[k.M[k.M     & n& n& n& n ¼nh?kZ mÙkjkRed iz'u½ ds nksnksnksnks iz'uksa esa vkUrfjd fodYi miyC/k gSA ,sls iz'uksa 

esa ls vkidks nh x;h NwV esa ls dsoy ,d,d,d,d gh iz'u djuk gSA 
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General Instructions :        –    

 (i) All questions are compulsory. 

 (ii) This question paper contains 18 questions, which are divided into 

four Sections : A, B, C  and D. 

 (iii) Section – A contains question number 1 having twelve (i-xii) objective 

type questions. Each question carries 1 mark. Question from (i) to (viii) 

multiple choice type questions. Each question carries four options, from 

which choose the correct option. The answer of each question from (ix) to 

(xii) may be given in one or two words or sentences.  

 (iv) Section – B contains question numbers 2 to 10 of very short answer 

type questions and carry 2 marks each. 

 (v) Section – C contains question numbers 11 to 15 of short answer type 

questions and carry 3 marks each. 

 (vi) Section – D contains question numbers 16 to 18 of long answer type 

questions and carry 5 marks each. 

 (vii) Internal choice is available in two questions of Section-D (Long 

Answer Type Questions). You have to attempt only one of the given 

choice in such questions. 

[k.M[k.M[k.M[k.M – vvvv    

SECTION –  A 

¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½    

(Objective Type Questions) 

  1. (i) pedhys] [kq'kcwnkj vkSj edjUn;qDr iq"iksa esa fdl izdkj dk ijkx.k mi;qDr gS \ 1 

  (A) dhV ijkx.k 
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  (B) i{kh ijkx.k 

  (C) ty ijkx.k 

  (D) ok;q ijkx.k 

  Flowers having bright colours, fragrance and nectar are suited for 

which type of pollination ? 

  (A) Entomophily 

  (B) Ornithophily 

  (C) Hydrophily 

  (D) Anemophily 

 (ii) fuEufyf[kr esa ls dkSu&lh rk¡ck ekspd var%xHkkZ'k;h ;qfDr ¼vkbZ0 ;w0 Mh0½ gS \ 1 

  (A) fyIisl ywi 

  (B) eYVhyksM 375 

  (C) ,y ,u th 20 

  (D) buesa ls dksbZ ugha 

  Which of the following is copper releasing Intrauterine Device (I. U. 

D.) ? 

  (A) Lippes loop 

  (B) Multiload 375 

  (C) LNG 20 

  (D) None of these 
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 (iii) ;fn ,d f'k'kq dk #f/kj oxZ 'O' gS vkSj mldh ekrk dk #f/kj oxZ 'A' gS] rks blds 

firk dk #f/kj oxZ dh D;k laHkkouk,¡ gks ldrh gSa \ 1 

  (A) 'A' 

  (B) 'B' 

  (C) 'O' 

  (D) ;s lHkh 

  A child has blood group 'O' and her/his mother has blood group 

'A', then what are the possibilities of blood group of her/his father 

? 

  (A) 'A' 

  (B) 'B' 

  (C) 'O' 

  (D) All of these 

 (iv) xUus esa jsM jkWV jksx fdlds dkj.k gksrk gS \ 1 

  (A) dod 

  (B) thok.kq 

  (C) fo"kk.kq 

  (D) izksVkst+ksvu 

  Red rot disease of sugarcane is due to : 

  (A) Fungi 
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  (B) Bacteria 

  (C) Virus 

  (D) Protozoans 

 (v) fuEufyf[kr esa ls dkSu&lk e`nk esa eqDrkoLFkk esa ok;qeaMyh; ukbVªkstu dks fLFkj djrk gS 

\ 1 

  (A) ,st+ksLikbfjye 

  (B) ,st+ksVkscSDVj 

  (C) (A) vkSj (B) nksuksa 

  (D) jkbt+ksfc;e 

  Which of the following can fix atmospheric nitrogen while free 

living in the soil ? 

  (A) Azospirillum  

  (B) Azotobacter 

  (C) Both (A) & (B) 

  (D) Rhizobium 

 (vi) fuEufyf[kr esa ls dkSu&lh isIVkbM Ük`a[kyk ifjiDo balqfyu esa ughaughaughaugha gksrh gS \ 1 

  (A) A 

  (B) B 

  (C) C 
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  (D) buesa ls dksbZ ugha 

  Which of the following peptide chain is not present in mature 

insulin ? 

  (A) A 

  (B) B 

  (C) C 

  (D) None of these 

 (vii) fuEufyf[kr esa ls dkSu&lk ekuo ;Ñr i.kkZHk ¼yhoj ¶ywd½ dk thou pØ iwjk djus ds 

fy, e/;LFk iks"kd gS \ 1 

  (A) ?kksa?kk 

  (B) eNyh 

  (C) (A) vkSj (B) nksuksa 

  (D) euq"; 

  Which of the following is the intermediate host of human liver 

fluke to complete its life cycle ? 

  (A) Snail 

  (B) Fish 

  (C) Both (A) & (B) 

  (D) Human being 

 (viii) ^fpidks vkanksyu* }kjk fdldh j{kk dh xbZ \ 1 
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  (A) i'kqvksa dh 

  (B) ?kkl ds eSnku dh 

  (C) o`{kksa dh 

  (D) eNyh dh 

  'Chipko Movement' was for the protection   of : 

  (A) Animals 

  (B) Grassland 

  (C) Trees 

  (D) Fish 

 (ix) ewykadj pksy ¼dksfy;ksjkbt+k½ D;k gS \ 1 

  What is coleorrhiza ? 

 (x) ml oSKkfud dk uke fyf[k, ftlus Mh ,u , dk uke ^U;wfDyu* fn;kA 1 

  Name the scientist who named DNA as 'Nuclein'. 

 (xi) fdl thok.kq ls lrr izo/kZu rkiLFkk;h ¼FkeksZLVscy½      Mh ,u , ikWfyejst i`Fkd~ 

fd;k tkrk gS \  1 

  From which bacterium thermostable DNA polymerase is isolated ? 

 (xii)  ;wjhgsykbu tho D;k gSa \ 1 

  What are Euryhaline organisms ? 
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[k.M[k.M[k.M[k.M – cccc    

SECTION –  B 

¼vfr¼vfr¼vfr¼vfr-y?kwÙkjkRed iz'u½y?kwÙkjkRed iz'u½y?kwÙkjkRed iz'u½y?kwÙkjkRed iz'u½    

(Very Short Answer Type Questions) 

  2. dkf;d izo/kZ D;k gksrs gSa \ blds fofHkUu izdkjksa ds uke fyf[k,A 2 

 What are vegetative propagules ? Name its various types. 

  3. mYcs/ku D;k gS \ blds mi;ksx vkSj nq#i;ksx D;k gSa \ 2 

 What is amniocentesis ? What are its uses and misuses ? 

  4. fcanq mRifjorZu D;k gS \ ,d mnkgj.k nhft,A 2 

 What is point mutation ? Give an example. 

  5. ,U;qIykWbMh vkSj ikWyhIykWbMh fdls dgrs gSa \ 2 

 What is aneuploidy and polyploidy ? 

  6. dkf;d ladj D;k gksrs gSa \ ,d mnkgj.k nhft,A 2 

 What are somatic hybrids ? Give an example. 

  7. thok.kq dksf'kdk dks Mh ,u , ysus gsrq fdl izdkj l{ke cuk;k tkrk gS \ 2 

 How is the bacterial cell made competent to take up DNA ? 
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  8. chVh fo"k dwVc) djus okys thu dk uke fyf[k,A bl izdkj ds fo"k iSnk djus okys fofHkUu 

thuksa ds uke fyf[k,A 2 

 Write the name of gene which code Bt toxin. Name various types of 

genes which produce such toxin. 

  9. tSo izkS|ksfxdh ds fofHkUu vuqla/kku {ks=ksa ds ckjs esa fyf[k,A 2 

 Write down various research areas of biotechnology. 

10. Mh Mh Vh dh mPp lkanzrk dk if{k;ksa ij D;k izHkko gksrk gS \ 

 2 

 What is the effect of high concentration of DDT on birds ? 

[k.M[k.M[k.M[k.M – llll    

SECTION –  C 

¼y?kwÙkjkRed iz'u½¼y?kwÙkjkRed iz'u½¼y?kwÙkjkRed iz'u½¼y?kwÙkjkRed iz'u½    

(Short Answer Type Questions) 

11. vkWVksxSeh D;k gksrh gS \ vkWDtsfyl esa bl fof/k dk o.kZu dhft,A 3 

 What is autogamy ? Explain this process in oxalis. 

12. feyj ds iz;ksx ds ckjs esa fyf[k,A 3 
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 Write about Miller's experiment. 

13. rackdw ds iz;ksx ds gkfudkjd izHkko D;k gSa \ 3 

 What are the harmful effects of using      Tobacco ? 

14. ,d izk:i ck;ksxSl la;a= dk ukekafdr vkjs[k cukb,A 3 

 Draw a well labelled diagram of a typical biogas plant. 

15. vi?kVu fdls dgrs gSa \ bl izfØ;k ij rki rFkk ueh ds izHkko dks fyf[k,A 3 

 What is decomposition ? Write about effect of temperature and 

moisture on this process. 

[k.M[k.M[k.M[k.M – nnnn    

SECTION –  D 

¼nh?kZ mÙkjkRed iz'u½¼nh?kZ mÙkjkRed iz'u½¼nh?kZ mÙkjkRed iz'u½¼nh?kZ mÙkjkRed iz'u½    

(Long Answer Type Questions) 

16. 'kqØtuu izfØ;k dk o.kZu dhft,A 5 

 Describe the process of spermatogenesis. 
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vFkokvFkokvFkokvFkok    

OR    

 euq"; esa fu"kspu ,oa varjksZi.k izfØ;k dk o.kZu dhft,A 5 

 Describe the process of fertilization and implantation in human beings. 

17. ekuo thukse ifj;kstuk ds egÙoiw.kZ y{;ksa dk o.kZu dhft,A 5 

 Describe the important goals of human genome project. 

vFkokvFkokvFkokvFkok    

OR    

    fxzfQFk }kjk izLrqr :ikarjh; fl)kUr dk o.kZu dhft,A 5  

 Describe the transformation principle proposed by Griffith. 

18. ikfjra= esa tkrh; fofo/krk ds egÙo dk o.kZu dhft,A 5 

 Discuss importance of species diversity to the ecosystem. 

ssss    

 


